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MODEL QUESTION PAPER 

SET –II  

Entrepreneurship ¼m|ferk½¼m|ferk½¼m|ferk½¼m|ferk½  
 

(Class XIIth) (I.Com)
 

Time Allowed : 3 Hours                                                                               Full Marks 70 
 

 

 cgqfodcgqfodcgqfodcgqfodYih; iz’u Yih; iz’u Yih; iz’u Yih; iz’u  Multiple choice type questions :-                           1×20=20 
 

 

1- fuEu esa ls dkSu&lk volj dk izdkj gS\  
Which of the following is a kind of opportunities ?  

1 

 (A) izFke volj First opportunity  (B) fufeZr volj Created opportunity 

(C) vfUre volj Last opportunity (D) buesa ls dksbZ ugha None of these 
 

 

2- cktkj ewY;kadu ds fy, fuEufyf[kr esa ls dkSu lh ckrsa vko’;d gS\ 
Which of the following things are necessary for market assessment.  

1 

 (A) iwfrZ Supply (B) ek¡x Demand  

(C) izfrLi/kkZ dh izd`fr Nature of 

competition.  
 

(D) mi;qZDr lHkh All of the above  

 

 

3- fuEu esa ls fdl mRikn ;k lsok dk pquko djrs le; /;ku j[kuk t:jh ugha gSA  

Which of the following is not to be considered while selecting a product or service? 

1 

 (A) cktkj dk fu/kkZj.k Marketing Assessment        
(B) O;kogkfjdrk Practicability                       

(C) izfr;ksfxrk Competition        (D) mRikn fu;kstu  Product planning       

 

4- LFkkiuk esa vklku gS& Easy in formation is -  1 

 (A) ,dkdh O;kikj Sole trading (B) lk>snkjh QeZ Partnership firm 

(C) la;qDr iw¡th dEiuh Joint 

stock company 

(D) buesa ls dksbZ ugha None of these  

 

 

5- ,d lQy m|eh esa vko’;d gh fuEu xq.k gksus pkfg,A  
A successful entrepreneur must possess the quality of the following.  

1 

 (A) usr`Ro dk Leadership  (B) fu;a=.k dk Control  

(C) uoizorZu dk Innovation  (D) buesa ls lHkh All of these  
 

 

6- O;olk; fu;kstu dk izeq[k egRo gS&  
The main importance of business planning is- 

1 

 (A) fuos’kdÙkkZvksa dks vkdf"kZr djus esa in attracting investors          
(B) fn’kk&funsZ’ku esa in providing guidelines                        

(C) mÙkksyu 'kfDr iznku djus esa in providing lever age  

(D) mi;qZDr lHkh  All of the above         

 

7- ifj;kstuk fuEu ls lacaf/kr ugha gksrh& Project is not concerned with- 1 

 (A) uoizorZu Innovation  (B) dYiuk 'kfDr vision  

(C) tksf[ke Risk  (D) l`turk Creativity  
 

 



8- fuEu esa ls dkSu lalk/kuksa dk izdkj ,oa lzksr gSa\ 

Which of the following is a kind of resources and their sources ?  

1 

 (A) HkkSfrd lalk/ku Physical resources  (B) rduhfd lalk/ku Technical 

resources  
(C) ekuoh; lalk/ku Human resources  

 

(D) mi;qZDr lHkh All of the above  
 

 

9- 'kq) dk;Z’khy iw¡th dk vFkZ gS& Net working capital means.  1 

 (A) pkyw lEifÙk;k¡ & pkyw nkf;Ro Current Assets-current liabilities           
(B) pkyw lEifÙk;k¡ $ pkyw nkf;Ro  Current Assets + current liabilities                       

(C) pkyw lEifÙk;k¡ ÷  pkyw nkf;Ro Cureent Assets ÷  Current liabilities   

(D) mi;qZDr ea ls dksbZ ugha None of the above         

 

10- izca/k dk lkekftd mÙkjnkf;Ro gS& The social responsibility of management is 1 

 (A) lHkh ds izfr towards all  

(B) dsoy deZpkfj;ksa ds izfr towards employees only                         

(C) ljdkj ds izfr towards the government  

(D) buesa ls dksbZ ugha  None of these        

 

11- foi.ku vo/kkj.kk gSA Marketing concept is - 1 

 (A) mRiknksUeq[kh production- oriented  (B) foØ;ksUeq[kh sales- oriented  

(C) xzkgdksUeq[kh customer-oriented  (D) ;s rhuksa All the three  
 

 

12- vf/keku va’kksa ij ykHkka’k nj gksrh gS& 
The rate of dividend on preference shares is  

1 

 (A) fLFkj Fixed  (B) py variable  

(C) v)Z py Semi variable  (D) buesa ls dksbZ ugha None of these 
 

 

13- ewY; uhfr gksrh gS& Price policy is - 1 

 (A) miHkksDrk ds i{k esa In favour of consumer  

(B) ljdkj ds i{k esa In favour of Government                          

(C) mRikn&fuekZrk ds i{k esa In favour of producer manufacturer.  

(D) lHkh ds i{k esa In fovour of all  
       

 

14- fuEu esa dkSu&lk O;kolkf;d volj dh igpku dks izHkkfor djusokyk 
?kVd gSa\ 
Which of the following factors affecting identification of business opportunities ?  

1 

 (A) vkUrfjd ek¡x dh ek=k Volume  of internal demand  

(B) fufeZr volj created opportunities                           

(C) i;kZoj.k esa fo|eku volj Existing opportunities in the environment  

(D) mi;qZDr esa ls dksbZ ugha None of the above  
       

 

15- cktkj ewY;kadu dks dkSu&lk rRo izHkkfor ugha djrk\ 
Which element does not affect market Assessment?  

1 

 (A) ek¡x Demand  (B) lw{e okrkoj.k Micro 

environment  
(C) foi.ku e/;LFk Market intermediaries  (D) izfr;ksxh competitor  

 

 



16- fuEu esa ls dkSu u;s m|e dh 'kq:vkr dh voLFkk ugha gSA  
Which of the following is not a stage of starting of a new venture ?  

1 

 (A) izkjfEHkd&iwoZ voLFkk Pre-start up stage            
(B) izkjfEHkd voLFkk Start-up stage                          

(C) mRikn cktkj voLFkk Product market stage  

(D) ckn dh o`f) voLFkk Later growth stage  
       

 

17- miØe dk pquko djrs le; /;ku nsus ;ksX; fcUnq gS& 
The point which considered while selecting an enterprise is  

1 

 (A) mRikn Product  (B) foi.ku Marketing  

(C) iwath dh miyC/krk  
Availability of capital  

(D) mi;qZDr esa ls dksbZ ugha  
None of these  
 

 

 

18- fuEu esa ls dkSu lh O;olk; ds foLrkj ls tqM+h leL;k ugha gSA  
Which of the following is not a problem of expansion of business ?  

1 

 (A) tksf[ke izca/k Risk management              
(B) ykHk fu;kstu ,oa O;; fu;a=.k Profit planning and expense control             
(C) ewY; uhfr Price policy         (D) ek¡x dh izo`fr Trend of Demand         

 

19- O;olk; fu;kstu ds eq[; vo;o gS&  
The main components of business planning are  

1 

 (A) O;olk; dk o.kZu business description               
(B) vf/k’kklh lkjka’k executive summary               

(C) A ,oa B nksuksa both (A) and (B)              

(D) A ,oa B nksuksa ugha neither (A) nor (B)              

 

20- ,d ifj;kstuk gS& A project is - 1 

 (A) xfrfof/k;ksa dk lewg Cluster of activities   (B) ,dy xfrfof/k single activity      

(C) vla[; xfrfof/k;ksa dk lewg Group  of innumerable activities              

(D) buesa ls dksbZ ugha None of these  
      

 

 fjDr LFkku Hkjsa fjDr LFkku Hkjsa fjDr LFkku Hkjsa fjDr LFkku Hkjsa  Fill in the blanks :-                                                          1×7=07 
 

 

 

21- fdlh Hkh miØe dh LFkk;h iw¡th rFkk dk;Z’khy iw¡th ds fy, ------------ 
vko’;d gSA  
………….. is required for fixed capital and working capital of any enterprises.  
 

1 

22- dk;Z’khy iw¡th dh izd`fr ------------ gksrh gSA  
The nature of working capital is ………………. 
 

1 

23- okLrfod foØ; rFkk le&foPNsn foØ; dk varj ------------- dgykrk gSA  
The difference between actual sale and break even sale called …………….. 
 

1 

24- Hkkjr esa izca/k ------------------- gSA Management in India is ……………… 
 

1 

25- foKkiu ------------ gSA Advertisement is …………. 
 

1 

26- lap;h vf/keku va’kksa ij ykHkka’kksa ----------- fn;k tkrk gSA  
Dividend on cumulative preference share is given ………………… 
 

1 

27- VsyhQksu O;; gS ---------------------- Telephone Expense is ……………….. 
 

1 



     

vfr Yk?kq mÙkjh; iz’u vfr Yk?kq mÙkjh; iz’u vfr Yk?kq mÙkjh; iz’u vfr Yk?kq mÙkjh; iz’u  Very Short Answer Type questions :-          2×7=14 
 

 

28- O;kolkf;d lqvolj ls D;k le>rs gSa\  
What is meant by Business opportunities? 
  

2 

29- mRikn dh ykxr vkSj dher ls vki D;k le>rs gSa\ 
What do you understand by cost and price of the product ?  
 

2 

30- mRiknu ;k lsok dk pquko djrs le; /;ku nsus ;ksX; fdUgha nks ckrksa dks 
fy[ksa\ 
State any two factors to be considered while selecting a product or service ?  
   

2 

31- izR;{k fu;a=.k fdl O;kikj esa lEHko gS\ 
In which business direct control is possible?  
   

2 

32- la;= foU;kl D;k gksrk gS\ What is plant layout ?  
   

2 

33- ,d vPNs O;olk; fu;kstu dh D;k 'kÙksaZ gS\ 
What are the conditions of a good business planning?  
   

2 

34- ifj;kstuk izfrosnu fdls dgrs gS\ What do you mean by project Report ?    2 

 Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u  Short Answer Type questions :-                                3×5=15 
 

 

35- miØe ds fy, lalk/ku D;ksa vko’;d gS\ 
Why resources are needed for an enterprise ?       

3 

36- dk;Z’khy iw¡th dks izHkkfor djusokys fdUgha rhu rRoksa dks fy[ksaA  
Mention any three factors affecting the working capital requirement.  
         

3 

37- le&foPNsn fcUnq D;k gS\ What is Break-even point.   3 

38- izca/k ,d lkewfgd fØ;k gSA D;ksa\ ‘Management is a group activity’. Why?   3 

39- foKkiu ds rhu dk;Z fyf[k,A Write three functions of advertisement.     3 

 nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u  Long  Answer Type questions :-                               7×2=14 
 

 

40- foi.ku izca/k dh ifjHkk"kk ns rFkk blds eq[; mís’;ksa dks fy[ksaA  
Define marketing management and explain its main objectives.    

7 

 vFkok@vFkok@vFkok@vFkok@OR  

 foÙk ds fofHkUu lzksrksa dk o.kZu djsaA Discuss the various sources of finance.   

41- O;kolkf;d voljksa dh igpku dks izHkkfor djusokys ?kVd dkSu&dkSu ls 
gSA foospuk djsaA  
What are the factors affecting identification of business opportunities?  

7 

 vFkok@vFkok@vFkok@vFkok@OR  

 fdlh oLrq ;k lsok dk pquko djrs le; lkglh dks fdu ckrksa dk /;ku 
j[kuk pkfg,\ 
What factors should an entrepreneur consider while selecting a product.?  

 

 


